BRI WTK*AE
BHER /31— x5 H o N5 & B % DIL*Z J ==
: . NEES 20 m
GA BERIER A A £ 8 IR 111 :lFEﬁ-? /I_I_\ o+ >( ( M88 2 ) (>‘ : k] 200 WBL R
f 55 B OERE S=1:500 (HEZEEENo. 141) 2
5% Z - :
‘ &
k=)
N
88
|
V| Yy 4. y
A - A BrEE s=1:30 B - B rER s=1:30
- ZRUBH: -
AALE D EE " 600 o S8 (B 110 600 10
X=-46106. 876 - o ]
Y=-50087 358 2 GL=v147560 | ] = 61=+147.560 i i
=2 Z 7 51 V5 (R15 e - 7
_ $18 (11745 o
2 ) HEEE (111530) 3 ) 1 35
= . w U% = 75ﬁ 900 ,
§ 120 — 000 120 T B (115030 § 120 900 — A 120
S —_  RIEREISR s _ -
B il I 2 i 3
AFULARE (| kv s 1) — b i
==
F & B s=1:30 = #Eﬂﬁ 2 5 i =
= f g = 2 %
ol oo \ m
0T I
< 600 J g 2 S L /H g 8
BT = &%\\ 0 W Gaa 009
~ | 144,009 i
S HH 2 S & L S
B ] ) [ - : |
_| B 82357 | | AoR—bavy =t o B H ||
oy )
| “
= mE 1
- M & AFVLABT ' : N H ||
= 1400 g o {300 |9
LA === “ ‘ 2% () H 4“% 4“%
S 888 500
. = s
% =N} e
= SIEH#E ) Y — b u | H ||
| H || ET’:H}EE.
| 2! H /“/;"‘L -3
1 |l AT N -
J J g s \H\ ‘ ‘ )ﬁz ¥
— D (o) 9
/4 139, 631 \\ % i
g 8 — 3
2 0" B (EUE 3 A
" {onR—bkavyy—t h
g b 50, 1500 250 50, 1500 250 %ﬁ%
2000 2000
% A
&
H
R—3




MER7I—F N hon 3R N 3R XEES
GA ERIER A A £ 88 IR 111

PR R T K

MAN U i—)LEEHEX

12 2 Mk

([X

&5 201)

Bt ERHR

SB—z¢ -
l‘\ e ‘
: /529
/509 : ©)
et~ | ¢ T T L L

©250

9 %X#HQ@

—

o

O800 3.0% 114.771m

AAERDER
X=—46130. 615
Y=-50157. 086

Mom & s=1:30

A - A BRER s=1:30

1140 ERUSH
12 900 120 1) 4 (IRY15
6L=+148. 950 _
< 1 N LN
s ¢ S4B (2739
— TEE (12560)
2 o 100 1200 100
. = 180 —— 1200 L7180 sgermver grascao
- =
. Bk vy U— b
2 AJ _ 5 ZISEH ORE 6 250X 200
1 &
ATV LABF :B =
s S 145,820 =
ol =
)L
= S
S (> <
Rdd I S
7144, 328
8 w144 228 o
g
S RELRE
50, 1500 {250
2000

B - B Brm& s=1:30

5250

1500

1140
2 900 120
GL=+148. 950
< Al N SN
2 s 100 1200 100
S 180 1200 —~71180
. _
BK S
# —
= < =
o N B
g O L
S
S

50

2000

’

ajo B 7 >

sl
(321
FR

T A

mee o

H| e
T | o




M- JWAN
MERST—K X 9 # th 4 8 I BHEES *E*EHIUILWTj(LEI II]DEZ
e
B

GA

Bl AL |z hfE < iR —)L X (LM871-6 ) (Hm&= 202) BB RERE

A
\\\\\\\\\\\ 7
&
5
_eEBABS ' 653 I
Q800 3.0% 85550 1
el ——— |
6
.
(RAFEEH L,
Ly . % =
ANLERIDERE
X=-46176. 543
Y=-50262. 460 , ,
g XY . ) [y .
A - A BB s=1:30 B - B B s=1:30
ERUZH
820 820
11 600 110 BRIy vy= 11 600 110
I | S=1:30 1) >4 (IR10
_ 6L=+149. 960 _ aL=+149. 960
= — =4 B
“; S1BE (1745 “’; 45
4 f e
S T (1560) S
1450 | — :
900
25 100 1200 100,25 _ B — o
S S =
— — EEE (15120 = ]
o 75 900 75 S
< q | & a r
2 o — S1BE (12739 - —
| ol o9 B & o ol © BY &
8 g = S g = B
s g AJ S B (M2560) s
‘. - / ﬁ: /4
= 100 1200 100 100 1200 100
== A J 0w 4 (M2B210) -
- EHem - S -
S i = /\\ e
o o O
= R >
2 S ) %A
7144643 V)44, 03 T R
S g . = S 4 9
2 7 7 7/ 2 V% 7/ =
LR (M2P) ]
425 | 600 195 T A U= kaVH =k 425 | 600 | 42 j=
1450 1450
ik
£ A
&
H
R—%




AN

X th 4y 4 N 5 £ BES *H*ﬁ Il)ILijZ | 7KLI:I[‘]1§
et S e Ay _ IX) - =
: A A 873 T 12 nnf eV * A [X M8/ -5 ) IS 203) .
B BN JIR— i k=] BEL FESE
it B B & S=1:500 zIZEHNO 142) R
)
&
g
%o 280 M
o o [87] 0800 3.0% 100. f"l,,a "
%o 53 798-1 1983 = —
-oe()o(slﬂ»/j}}6 m___ = e &I_)
ANLERIDERE
X=—46220. 723
Y=—50335. 834
A - A BTER s=1:30 B - B BrmERX s=1:30
7 _1- ZRUSH 820
T m X s=1:30 820 @814 (IR15 i1 600
11 600 . |110
o 6L=+149. 630 o 6L=+149, 630
] ! N 2SN = ! N 2 522N
’AB = / _ 4182 (M1T30 s N
1700 2 8 75 900 A5 2 (11560) g g 75 900 75
50 1200 1|~ 1 1
S 120 — 900 1A 120 B (115030 S 120 900 120
S — —  KRER(RZ1208) =
o o
= = o - ka9 Y= b o
: sz A 5 % — i
= S| > S < S <
: ] R#eY o =
S S _ T _ it
% — —
N
o o g 2
3 3 Ml o3
15. 061
L v144.961 7 = 4
2 'S S S TR
— £YUR—RaVH Y=} = 0
= =
= PR ot L e
50 1200 1200 250 3
1700 1700 R
5 2
F R
T
A
R—




MEXS -

GA

Bt A A %

1*E1§§)||)wfj?1_5¢(if?é?

AR~ v

TR—ILEEHX

IR

(LM87 -4 ) (HE

&5 204)

Bt ERFR

i i

L) S=1:500 (5tE%FmEXINo. 142)

F | S=1:30

0

1450
25 100 1200 100,25

0

800

960
(2~

AERDER
X=-46210. 861
Y=-50422. 576

A - A BrER s=1:30

4950

B - B BrmERX s=1:30

11

820

600 110

425 | 600 425
1450

40
150

1\

600

900

15

S| 900 F75
]

300

AR 4580
600

2100

20

100

GL=+149. 940
27\

100

150

EZRUZH
820
11 600
= GL=+149. 940 o
=l Y
o ELEE (1S90
= 5. 900 75
S /T X S48¢ (12739
s X8 T B (2560 o o
o M 2 g
=< —< — — S 2
100 1200 100
== k704 (128210)
R T -
= (e}
S S s
S 2 2
N 145, 361 V145, 391
S B S|
= V% 7/
O\ EHR (12P)

AoN=FravH )=k

425 | 600 | 425

1450

a0 B

X
(321
FR

qne He©

s

I

+




MERZI—F N h o 5B
B

GA

i A A g §-2IK 114

1511713 T K

NfEl ¥ VU i—LE

=)
5 [X

-

&5 200)

Bt ERFR

ft 3t B HY S=1:500 (5tiE%FEXINo. 142)

1

|

\

|
*

!

|

|
-&

B A3 AT A F

T m X s=1:30

1700
50, 1200 20

80

80

AERDER

X=—46243. 496
Y=-50523. 855

=
60
800

800
960
=

A - A BRER s=1:30

B - B BrERX s=1:30

4740

11

110

150

600

GL=+149. 920
I

4740

960

ERUSH
820 ‘
&Y 4 (IR15
11 600 110
6L=+149. 920
N XN
= b 7 T (M1S60)
S 75| 900 []75
S 120 — — 9004 120 e (115030)
= S - | RER(A#21208)
R ——
=z $iEavy )=t
Rite _
g \\\\\======= S
g3 3
o
S — = =
8 <
asS!
145806
8 o \__v]45.706 Y
_ AvR—tkavy =t
= L BEAR
50, 1200 1250
1700

. B 5 900 A5
S 120 A= L 900 4120

S |5
5K

-

<

S
S
50, 1200 {250
1700

ajo BH 2 >

X
(321
FR

T A

me H o

s

I

+




MEXS -

‘*ﬁ1§§’”tﬂ!§f:T-2k.

a2

18 o

T

y

-

&5 206)

Bt ERFR

F | S=1:30

B!
1450 |
25 1100 1200 100,25
[ - 600
O @)=
g8 — X ——f+— a0
(N ==~
' — i

AERDER
X=—46214. 169
Y=-50625. 719

A - A BRER s=1:30

820
110, . 600
_ 6L=+151. 470
= Z
= B T
S BB (M1S120
75 900 75
S /T N £18 (12739)
3 o HEE (425120)
S g w8
i = -< i — T/
100 1200 100
—— 85670y 4 (12B210)
o ki) T -
S aﬁ \\\\\753::= =
S g s
= g g
S| 146, 121 146, 151
4 S
3 77 77
O\ EHR (12P)

425 | 600 425

1450

Aon—ravyg)—¢

B -B

ﬂéﬁﬁ S=1:30

5720

820
1100 . 600 . 110
- GL=+151.470 ‘
= pam oL —
SIS E
ol BK =
2 & S
l.o_<$:l ]
100 1200 100
B 7
S Q;E::
)
]
3 7 77

425 | 600 | 425

1450

a0 B

— | OO
N xR =

S
e
£

qne He©

| HrE
I




BERAI— K x 5 8 SN IR EEE S IIL*Z | JH O
. _ ‘t N EAL XY XY ¥ =
6A EENSR AR | E SHIR 114 A — L (LM87)-1") (RIm & 207) a
E?%ﬁ’ﬁnx 81-1IT[X /)I[, 7 // \ )l/n ih >( >( 7? E’{Eﬁ% ZEJ:T:E/%%E

(jt 2% = m XINo. 143)

o : -~ W [/ ¥ 4. A
\\/O T E K s=1:30 A
. 7590 v/l S~ %

| ! 5

N
87
|
b
>
S S NS
N
S :
N EFDEE
E48 A
e _ ¥
‘\EﬁQ
50_ 2000 Lso
2500
i ™ vl _ 1|/ [XY 4.
A - A BRER s=1:30 B - B ErEX s=1:30
1140 ZRUZE 1140
120 900 120 900 120
o 6L=+151. 05 o 6L=+151.05
Lol— (1 = 7 N S
N 3 4 ~ 3 74 7
s V] — 4 B e ym
D R A ]
S g 100 1200 100 S g 1007 1200 100
1 7/ -
= 0. 180 — 1200 180 T 3 1807 |— 1200 180
= - PRhfR (R#%200F) S -
PraH ) — b
N S (C-160) N |
e _ & S =R
o 35
_ zg FR
5 - — = T 8
= S = ] - 9
S = =
T - 3
_ = 17146878 g
= Y 's
S 146 D 7146428 A _
= oo}g 2 %7 ﬁ E—FE;
| o
= AynN=p2a25 )=+ S .
V145,719 (C-160) V145,719 T A
= t #3545 1= =
50, 2000 250 (€-160) 50 2000 50 %
2500 2500 A
R—%




AR R T K

18 o Mk

HER,O— X n & 7 % N7 %8 1S
. = ) » L E
GA EE % 868 IR M < o hR—ILEEHAL (LM86/-16 ) (Xm&E = 208) .
E?%ﬁ’ﬁui A %L = 8681': 115 E 7 / \NT 0 >( >( F E/__Fﬁ(% qu_:i/#ﬁﬁ
A
1
&
5
T
86
|
16
1}/ (XY . 1}/ (XY .
A - A FEB™ s=1:30 B - B B s=1:30
ANLERDERE
X=—1620. 374
Y=—50760 274
820 820
11 600 11 600|110
- 6L=+152. 58 - 6L=+152. 58
= 7 = I
= S o Z/
¥ M| ¥ s=1:30 — 4
2 B B = Bl g w0 _AT5
75| 900 75 T
;‘ A o i --,/: i
S — & OE S -
1450 | = S ?
2 100 1200 2 100 1200 100 - 5 B
2 = BE# 2 o
= — = _ QL S -
: ——= — o o148, 780 100 1200 100
‘ e = —
S| o ( \ 600 [ /1 : .y |
B — ———Q\ g 3J>0 9 -
OO/P — X jD“ — — ' s et =
o BILE = — )L
ﬂ = = 7146, 705
S 146,805
9 /% 9
_ 146,705 | %(TE’SEO;/Q'J—F ﬁﬁé
004\ B - N
fv . fv . [z n
2146335 | 7 7/ | 146,335 | |
= 5 e = 5 e ¥ B
= V1461354 G = V1461354 2
= | | = | | i
{n b= 45 | 600 | 425|225 300 495 | 600 | 4% 3
1450 525 1450 A
5%
£ R
(C-40)
F
)=
R—




BERSI—F R th 4 5 N5 5 nEE R *H*ﬁ) I | /)ILi:ET7kﬁémlE‘z
A ERmR AR | E 68IK 115 hfE v U hR—ILEERX (IM86 |-15 ) (Mm&ES  209) wr EaRE

EQ? XNo. 143) A
h 7
&
5
N
86
|
15
ANALEFIDEEE
X=-46236. 811
Y=-50829. 638
\|/ Y . — ug Y -
A - A BRER s=1:30 B - B BrmEX s=1:30
= _ 820
I M| $=1:30 820 11 600, [110
1 600
= 6L=+153. 61 = GL=+153. 61 _
ﬁg % ﬁg : %
’E 8‘_ ; B 81_ =t
/ : - ’
L0 = 75 900 75 = 750 90 8 75
50 1200 250 < —— S t:
S 120 — — 90014120 g S 120 000 L= 4120
= 50 — Bt 1 — b = _
= - (C-160) = -
o o ~ ~ -
= < BRER (1942 1205) <
R R
N 2 Eﬂlk o9 )—F P
A _ o sl s A e & BT SUS304 (C-160) =
LA g8 gsg M B < B=400 = <
1=2100
=) S o
T =
_ © 7148, 988
= 149, 360 )
= Y ﬁéﬁmﬁk
\j i\ V148 988 £ R
]
= = T M
7 7148, 558 e bash b 7 7148, 558
= (C-160) = i
= o S
50, 1200 h50 NZRRLE 50 1200 h5o ]
1700 1700 A
7 &
F A
F
)=
R—%




MER?I— N hon 3R N 4R XHEE
GA EEM X A A £ 867 IR 116

LN I B E )
JUEEH

AfE]~w v

—

18 o Mk

1

-14 )

(

I 1 I~

y

&5 210)

HiIRE EFFR

S (M 2% EXINo. 143)

/5473 -

sl 0800 3.0% 99. 958y

T | X s=1:30

A

1450
25100 1200

80

800
960

AAERDER
X=-46259. 358
Y=-50874. 148

[=

A - A BrER s=1:30

820
11 600
o
— GL=+154. 07
Ol me
~ 75 900 75
S 7 —— \ o B
S
s88 g o m [
— T/ 8
FEIOvy
== S -
- = THEEY — 3 g
S 150,190
= N
S ) BitEZ—ILE
- V149 610
149 510
= . EiuTavyl—=+
B149.140 | 77 4 | (C-160)
= 5 |
F—M‘I 7
o | |
g
AT K 495 | 600 | 425 25J 300
1450 525

110

B - B BrmERX s=1:30

820
110 600 110

GL=+154.07

4930

20

150
]

600

900

15 900 15

_1300_ 300,
I

300

AR 4560
600

2100

100 1200 100

149. 510

=’
=)
—

149. 140

100_100

- V148 940

|
N
F

__‘//L_

425 | 600 | 425
1450

ain B >

sl
fER
FR

qne He©

e

T | mHE

H




